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QCESTIO:\l 1 

Assume that you are considering selecting assets from among the followinf; tv\") ')I'tions: 

Asset A Asset B 

Market r-Iarket 
condition Return Probability condition Return Pro babi I itv' 
Good 16% 0.25 Good 20%) ~ 

Average 12% 0.50 Average 14% O.5C 

Poor 8% 0.25 Poor 8% 0.2: 

a) Compute the expected return of each stock. Which slock is most desir2bk b) this 

measure? (6 Marks) 

b) Compute the standard deviatio1 of the annual rate of return for each slack) By 

this measure, which IS the preferable stock? (6 Marks) 

c) Compute the coefficient of variation t~r each stock. By this measure rebtive 

measure of risk, which stock is Qreferable? (6 Marks) 

d) Assuming that you have a E 100 000 which you split 50/50 between asset A and 

Asset B, compute the expected return of the portfolio'? (3 Marks) 

e) Distinguish betvveen business ri 3k and financial risk? (4) 

Total (25 iVlarks) 
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QUESTION 2 

a) Explain the differences betv\l~en bonds and ordinary shares? (8 ?I/arks) 

b) Discuss the role of financial markets in S'vvaziland and limiting your discu;;sion to 

any five points? (20 Marks) 

c) Explain the concept of arbitrage. Marks) 

Total (30 Marks) 

QUESTION 3 

a) Distinguish between diversifiable risk! unsystematic. risk and non-divelsiflUble 

risk! systematic risk'! (6 Mar:<s) 

b) Write short notcs on: 

I. Spot market (3 Marks) 

ii. FOf\Vard market (3 iv·jarks) 

c) Explain the concept correlation and how it helps in the context inveslm:nts? (8 

Marks) 

Total: (20 Marks) 
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QUESTION 4 

a) 	 Suppose Edith Baker deposits EJ a000 I11to a savings account today for 'N\;i<2h the 

bank pays simple interest at a rate of 10% per annum, 

How much money \yilt Edith Baker have in the account at the end of thr~e :- ears'? 

(5 iv1arks) 

b) For the same deposit in (a) abovf, ho\\ much will Edith Baker have at the end of 

three years if the interest is compounded annually at the same rate of 10%? (5 

Marks) 

c) Comment on the differences on the results in (a) and (b) above. (5 lvlarks) 

d) Nokuthula Dlamini is certain th2.t she will graduate five years from tcday aad 

would like to buy herself a laptop at that time. Computronics (Pty) LllniL:d 

informed her that the laptop model she is interested in will cost E30 OCO at t1e 

future date. If Nokuthula Dlarnini can earn interest at 12% per annum 

compounded annually in a savings account how much must she deposit into the 

savings account today? (5 ;'vlarks) 

e) Mary Khumalo wants to deposit E15 000 at the end of each year into a speci'll 

savings account for five years. The bank has promised her a rate of interest pf 

10% per annum compounded annually on her savings, how much money wi II she 

have at the end of her savings term? (5 [,darks) 

Total: 25 Marks 



5 

10 

15 

20 

25 

30 

Table t: Future value of R I at the end of n periods 
1% 

0 1.0000 

I 0100 

2 1.020 I 

) 1 (])O1 1.0() 1 2 


4 1.0406 1,0824 


10510 041 


6 I 1262 


7 I 07~ 1187 


8 1.0829 1717 


9 1.0937 19S 


1.1046 12190 


II 1 II 'i7 2434 UB42 


12 1.1268 1.2682 1.42 


[-J 1"1 13RI 1 29"16 1.46H5 1.6651 1.8856 '-I 
GI CO"14 .1495 .3195 1.5126 1.7317 1.9799 3.7')?:S 4,3104 '" Ul (i) 

fj)1(>I 0 1.3459 I.')SSO 1.800') 2,0789 2.39M) 2,7590 3.17:Q 3642" 4.1772 ·L71H6 :J 471() ()_2!)!D 

16 1726 :3728 1,6047 1,8730 4.5950 ,09 6,1 

17 1 I (i'f3 I.'tOO2 1 652fl 1 9479 'l O~4!) 5R'.!" I 6.8660 


18 1.l961 1.4282 1,7024 2:0258 2.4066 2,8543 


19 I ;';081 1.4568 1 7S35 2.1068 25;],70 


1.2202 1.4859 2.1911 


21 12:,24 .!)! 57 2.278H 278(JO 3,3996 4.1406 5.0338 


22 1.2447 3,6035 4.4304 


23 1.2:'72 3,8197 4,7405 5.H71" 


24 1.2697 4.0489 5:0724 


1.2824 

26 1,2953 

27 

28 164.,,447 

29 I ,334~) 7758 1978136 

1.3478 1,8114 2.4273 66,2118 237.376.3 



Table 2: Present value of R 1 at the end of n 
14% 15% 20% 

. LOOOO 1.0000 1.0000 

Ofl772 OB69fJ Oi:n:n 
0,7695 0,'1561 O.(l')'!'" 

o 67,,0 ().6:)7~:' O.5'1Hl 

0.5921 O.:i71 04823 
0.51 <)4 O.4(J72 I) ,,0 I') 

O.412~ 0.3349 

o ~52' 0.4251 O.1')')h (i.51 :)'J /'/1 

0.4339 0,3762 0.:,506 0.3269 0.2326 

OA211 0.),)U9 0.'l606 0.3,29 0.307~' 0 01 

0.3855 0.:1522 0.3220 0,2946 0.2697 0.2472 O. [615 

o 216() ();! 1'19 O. [3 f lr) 

0,2076 01869 (],II22 

o [(,LS O.0'r55 

0,(413 0.0779 

0.12:2') O.O(A'! 

0.1 

,~ 

" S 
S' 
J 
;::; '" 
8" 
(;;' 



Table 3: Future value of an annuity of Rl per period for n periods 

'-I
f'J 13 245227 26.2116 28.0291 29.9R47 32.0887 34.3519 48.4%61 ",'
vi (J'14 '.27:9750 30.0949 959 1 

(i)-I 

15 \ 1 7"!7r::. "';;1 .1n~t1. '7,7 "YIO? dn At7t:.. .::14; Q,l'JA tt7 (~H()4 7') n,;, II (j) 

16 
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26 
2"' 
28 
29 
30 

172579 18.6393 

IRA,04 2001 

19.6141 

'33.4504 38."'922 45.2lB9 

34.7849 40:5681'47.5754 
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'~5% 

11 8()<)3 1'U)(W'5 15 .• )178 16J,268 17 "fDO j 8.8821 20.1406 7.1.49:)1 22.9534 

1494"14 Ifi.9739 17.0863: 18.2919, 5J 49 
160()U} 17.2(J3 i l I r-.q~q ')n (1')')(, r) I t;7'iU, ,), :V!(,() ':It; ! '){In ')7 I r;?1 ')() "l;(,fitJ 
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Table 4: Present value of an annuity of R t per period for n periods 
1% 

0 0.0000 0.0000 

r 



